Fake rate vs P,

T

Takerate vs p,

Ratio

= 0.2

1

0.8

0.6

0.4

0.2

0.95!

; 2 3
10 tra%g P, (Ge\})0

| Dupli

cates Rate vs P,

0.0
o
£.009
o)
©.008
0
£.007
Q
2.006
>
o

0.005
0.004
0.003
0.002
0.001

...............................................

q

Ratio

0.5

0 L H
107 1

H H - ,
10 tra%g P, (Ge\;')0

Pileup rate vs P,

T

plieup rate vs p

Ratio

1

0.8

0.6

0.4

0.2

e

T

0.95!

M—ariginal—10
M_fitted4 T00Oevt

evt

UéM original_ori (l)n alvector_T000evt

©0.18
Q
50.16

<
$0.14

Ratio

0.12

0.1

0.08
0.06
0.04
0.024

....................................

T[T [T I [ TT [T [TTT[TT [ TTT[TTT

0.5

track n

Fake rate vs phi

o 0.2
20.18F-

Q
©0.16

(0]
§0.14

Ratio

0.12

0.1
0.08}
0.06}
0.04
0.02---

= =L UL U L L L UL

1.

0.950k

-3
track @

0.0
©.009
%.008
8.007
©
9.006,
[oR
=}
B.005
0.004
0.003
0.002
0.001

................................................

................................................

q

Ratio

[ Dupli

cates Ratevs @]

0.0l
9.009E
Q )
®.008E
$.007F
© .
2.006F
=] +
©.005F
0.004E
0.003
0.002F
0.001E

q

Ratio

0.5

pileup rate vs 1

Ratio

0.8

0.6

0.4

0.2

track n

Pileup rate vs @

S

Vi

pileup rate vs

Ratio

0.8¢
0.5
0df
0.3F
0.2
0.1

track @



	Contents
	Page 1


